Math 125

Spring 2021

Lecture 25

y=ax’+bx+c

March 23, 2021

Solwe \)b %C‘*\IO‘VQ—Rooﬁ W\Q’\\v\oc\‘.




Sowe \36 Com?\elﬁvxa the Squve wmethod:
X AR AN (D:ﬂﬂg
=4 % 4
rE 2 A=
L el (o)
Lead.
\ 5. 5
Codl. =1 2 > 2 x& 49X &2& :Olq
S _AD> 2
?C'\—,z.—i?;l X*% _ qT(
9‘_’%&1 Use S-P\-\”l;ijf
5 3 - -5 3 /k.{'g’—i Y
=5 Ay 272
2 -3
=75 2 S[ 'dlg
x =
x-=-1

March 23, 2021

Solve \o\d Comg\ﬁ?v\% Yhe Scpvove wethod
2 —ux +\13=0

2 >
=4 A(2) = 3 -?)

5= ySECWFCERSY
('X——Q)?_: |
. Use SR,
2':\;3" -2 = i\] =




Crwem 2% —5x —%=0

\) S‘“\A O, \3[ CMI\C\ C.

Q:S b: -—6 C:—%

-

2) Evaluate Y5 —toC
Z_dacs (5Y -39 =25+3b = [121]

3) Sole \0\3 USMﬂ the C\—quVcAh‘c S:avmu\a,,
R R L _(s)adel 5l

’ 20 2(?) 6
x>

x

e éig 53_1353

Cuven (% +4)(2x -1)=10

V) ol Stwphihy omd Write tu Oy byi(=0

Jorm 617 —3x 48k -4 ~10=0
6x*v9x -14=0

2) Stnd &, b, and C. 3) Evaduste & -4c

-6 B Hog s 5-U(6) )
o= _ 36\
C=

LY Use the Gpuedwalic Sovmola G Solve.
r. “ox v -sJ3d st

20 200 12
-5+ -5\
x=25 =
Y .2
@ e 01
iz’zi
x= 4 x=-2

6

March 23, 2021



March 23, 2021

The ?onclv & Ywo Consecvttve 0dd infegers

N~

e 5. X & X A2

Siq\A all Such  integts  X(XA2) =25

) . 22v2x —35=0
Ky ox Ak =35+l v
‘—2.2:1 A2y 2x x1=36 ’:5
(% A1y=36 i
e '\X_: '_\;Eé

yt LAk et
5\ 9%2=1
S\ ees 5¢1 OR 185

Lenath and width oS o vectangular  Qowdev
E X 2 xA2
welh Oven Y9 - ove M'

tnlesevs, A o
SMA Atwens fows oS

“\ Al X«2
e Oovatw, ue
p\YQO\:L")J /X(X-\Z) O
—b 4 J B Yac w2 o=
LT oL b2 (=M%
o 2306 > 40c- 274 (D0H)
2 =\%6
T
Y
P 1 s W LA o|F a2

z 2 2
q. 22— _e N\ 6 5t \)3 S
T2 2




March 23, 2021

r\z—\'ﬁ\\* ~Telong\e
XN N 0w CZ’

P‘( tha Govean Sovmu\a.

= X «{(x ) Hx x?)
/'“/4 2t x2% «1 - %z/-k"\’x-*‘-t

R

1/‘2‘)(5@

(x> % *'&) 0 3&

L\
'X A= 0 —52—_\\_\2_:52

ey > TR

ax" A bx +C=0; 06=0
Quad vetic Eo(vo\\‘.‘ov\

R2_HOC = Descominans
S0 =b Wwo Redl Solotions
b M _ O =>Ome vepeated, Real Sdy

O =HIWO tmoginav So\.




March 23, 2021

) Stad W2 ML= (-5)-4()(10) =251
-

%) Discuss the ype oS- Soluteous,
wotoe L O = o twaginay 'y
§o\uh'ows

Coven WXZ 4 12% A8 =0

V)&, b, C 0= b=l2 C=9

SV Siad  WPHOC = 12 -4 (D@-=0]

3 biscoss the Yype o% So\u‘r.‘ims
Y4ac= O :p@“e rape(freo‘ Veal §@.




March 23, 2021

(‘ii\le“‘\ U( *L‘>('¥ -—Q,):_\

V) weite w ox® Avx £+ =0 §oww.

1T -2 44x —® —1=0

% 2x —15=0 N

N Ciad O, b, and L. s)acmez\o toc

o=l , b=2, C=9 o dacs 2-4(2)9)

:
4) Discuss the type oS- Solutious,
w4ae b0 = (fwo Real So\uioms

Doma Reverse °
Given Soluliowns

Yind e qpvactiow
Tend o pvadvabic  eguaiion  with Solutions
o ¢y i oxabx =0 Sorw.

Y= -2 k=5
% 42=0 xX—5=0
(% _&g/)(’x,g‘):O

vz —sx x2x —\0=0




March 23, 2021

S:qA \N O(WO\W*\‘L eqn in QX4 bx4(=0
S-orm weth Solutions ‘—\imxo\ 5%

_ 3
x-S - =
Z'X:’l 3/)(:2

2¢ A1 =0 X —2=0

(2x A1) (3x 2)=0

6% —Ux 43X —2=0
\ox> —x —2=0

Ynd o C\—voAmh‘( esuadion w0y 4C=0
weth - Solutiaws 215,

=2 A5 x-0_J5
% -2 —39=0 r -2 W5=0
(x> @) (x 2 &P)-0

-
Conjugates

2
(x—2Y-{B) =0
\/V\/

A7 ax -5 =0




Wd o %GAW*\'( C’P\'Uo\\“\‘av\ b QX2abx+C=0

Corn Wit Solbiows  —334L,
= <> AN =3 MU
x x> —4L=0 a3 a4 (=0
(x> 240 ) (21 2@l ) = O

. 2
Yo et =V

Y A% - 16 =0
%% A G6x AQale=0

bnd o %vwﬁ*“ﬁ euodion T Ox% bxa(=0
So\rW\ with So\d‘hdvs \ )

( L) ( @&0)=0
W
(3x1) - (2i)=0

Quzex At —1 e

Q2 - €x A1-4(D)=0
Roeiso of

S& 7

S t— gy AL +1=0

h%l—éx +L:D]

March 23, 2021



March 23, 2021

Soling quadvadic  euation by making Subs,
(%>- ;)2 —o2(x%%) =3 =0

Notice 22— s lbeing Used fwice.,

Lot W= )
Ovy Fvo\o\em now becowes W —2u-3-0
When  W=3 | when U=-1 (u=)ur)=p
U=3 U=-1

12—’%:3 %2—_% :‘1
=11

xe=T
i?c :ixh—ﬂ @ j"\ﬁ‘:’%

(2+5) +4(x*45) =5= O

Leb M= A5

Ee(uahm be omes U +fU—5=0

(ur5)W-1)=0

W\\QV\ /u:—g W\,\Q“ W=
. W=-b u=1

2 - —
:k*5“ 5 l2as-1

k= *\Ho x,,r {2( il\@z




March 23, 2021

L

1
Qolve > — x> -20:=0
2 RE L7 |
xS - [:fﬂ Lxﬂ ‘{75]*20:0
L
- Ly U=
W‘\“L\ WE | e 1| X .
> L m-—-n —-20=
o =5 3= Y

o -5 fF~—L| (W -5 w)=0
(U2 Y=5" Y- m\ weo M

[Z=p5) !|x=-61] i 91,|z§

3G T, work on Tage 3€4.

\a = S‘(X)
QU‘QC)Y'O\*'(( :\) netion ; (Y)z Q(Y—h)z-ﬂ(

5 MWA

2) Verkex (1, K) 3) Axts 05 SNwmelry

x =
"_5) \(—111\)[‘_ LQ:\_ X=0 ;S‘{V\cx n

‘3)6:\/0&9‘\.
4) X -TIwjr Leb U=0, Swd X




March 23, 2021

2
2

\

$00= 0 (x—h) v K

S(x): (x — )

Q=1 , opews U\)wa\m\
h=2, k=3 Vertex (2,3)v

A0S x=2
Y-Tab e Lk =0 .
4 (0-2) ¥ =1
-=1m} * Nong

Sx)- T x42) -2
- o (x—hY Ak
\) (X—-% R--2 K=-3

2) 0L O =pOpens A cwnward

Verfex (h, K =(-2,9)
§) A0S, x=h k=2

ot Lk x=0, Sd YT
\3=——‘2—/(0+2)2~?>

- -2-3=-5

Z-Yat © None Dowaint (= 00, 00)
Rowee o0 Y|




March 23, 2021

$O)= 2(x —2)-8
Tz A (x -hy?ak

) 0=2. h-2 k=-%

2) OO > opRwe upwo.y-o\

3) Vevtex (R,K)- @ 5-9)
4) A.QS.
5) Y-Tat: (0,0)

5(0-2Y-%< 2 (% =550 VX Tah

Eunsﬁ
(-3, %)

1) Domawn
(00, 00)

(0,0) |

x=h x=2 <

P S~(2,-9)

dr?(:l

(0,0) /(‘1/0)

Y(x)= — (x +3)?_+2
o) o (x-hy +K
Do-=--1 h--3 K=2
2) QL0 =h opns Aownwad

2) Verex (-3,2)
n) A0S k=-5

5) N-Int (O):l)
—(043) ¥2=-Qw2:-

6) x-Int
(’3"\&/ O)

(35,0 L3 =2

=0 509=0 (X@)Z:?_
5? SRM,
_(xA3) 42=0 70\3[.2:1\5

Domocn® ("w/OO)

EU\V\@Q: (_00,2:-\

2- 2302




& \JQ(-)WC\’ 0C
oso

-b
h:%

E) Y\C.\‘l(OVl

ao )

K- §(h)

ADS.

g(x):mc “Aoxal oo

Fx)= - 4x

=1 b--4 =0
opgns UPWWO\

N

- o0 21 27
K-5(2)=24(2)

:L\—%: "q

Nerbex (2,-4)
AJS. =2
X-1at (0,0)

March 23, 2021



